HT0E4 B AP EROBERE LB S BUR K% [24500181] DEAEA S T
T SRR 7B LB [311010] gy %ﬁﬁ”é * e
2024/07/06 ~ 2024/07/07 BTEFEHE  WTRIL
BOR #E N R [ N
BEFENRE RS OAE
& g
EXE [ 0 2R 3 I B 6f T Sh
THTH I LAE B F-100m A ARKHR(L) 12.54 (&l HER0) 12.82( %% L) 12.86 (/M1 Z&34(1) 12.94[ 1T A1) 13.03[H 1&H1) 1313w i) 1314 KHE k(1) 13.16
J3\:+0.9 B =@ Bl B @k B4 fn Bl BRME By Bl @A Sl Rk —
THTH 24 - 100m P2 JHE©2) 11.63[IL T ZHE(Q2) 1193k FAQ) 12.03(7H  FHEQR) 12.05 a4 BEARLR(2) 12.14 I fRFA2) 12.29[HH 8(2) 12.35| KT BHKQ) 12.37
Ja\:+0.2 B e i e B drl e B s B R B SEpk s — e B B B B B BiCRE T
THTH 34 - 100m Zei SLHR(3) 11L.34[1m fE#k(3) 11442 22 igE(3) 11491 12 55%(3) 11.66[ (L FLFH() 1L.70[H 0 BER(3) L7555 55 (3) 11.76
JA\:+15 B &im B e B SEpk s — B =@ Bl Bl Bl #a Bl )\gE
TH6H 12 -200m Zei SLHR(3) 23.41|76)2 H©2) 23.7L[ I H EFH3) 23. 73| KH EHOQ) 24.02 (kA BERIS(2) 24.26|'E A VEF(3) 24.39|BFEH K A3) 24.62 [ A(3) 24.70
JA\:+0.3 B & B e T e By s [E SR Bivks B [E B B B S E
THTR 5 -400m AR RREG) 53.22)'HA 1H Q) 55.53| ks fEHQ3) 57.26|/NEPJR ALI(2) 57.53/Mk BIR() 58.29| A H CHF(2) 59.38|H M FEik(Q) 59.61[ AL BiAR(2) 59.99
B )\gg s [ER B SRR B SEHkEs — ESH- /B s e i o Bl A Bl ki
THTE 1 5 7-800m ik EFHG) 2:01.60 1% #(3) 2:03.65 {7k MLA(3) 2:09.55( [ fEa5(2) 2:15.97/Mk EREG) 2:18.16[FFH ¥fE5(3) 2:18.37(HH e iEG) 2:19.40 [MIF SER(3) 2:21.16
B B BUR B SRR B g Bl g B4k e B B e B B Bl g
TR6H | e pisoomop | BAED) 4:47.48(58F K1) 4:50.82[ KT Hrz/r(1) A454T0[IIH —Hi(1) 4:68.28[F A FRH(1) 4:59.62[ HIHT (1) 5:01.92(32)11 BEA(L) 5:02.05(cdk  {EFE(1) 5:04.17
o5 - B B W B o B e i e s [E B )\gE Bl #l Sl
THGH 9 1500m [CE NG 4:07.54 [k FEAIE3) 4:09.93[FH £2) 4:10.66 [P/ FHIE(3) 4:20.74 ()1l ZZA(3) 1:24.92( 46 —HE1) 4:25.01 [I=E 0:(3) 4:29.64(IIF SREL(Q2) 4:31.03
S B @k Bl A Bl B Sl #a Bl BRME Bl Bl Ak
THTE 9 -3000m I BEARR3) 9:13. 733 1 HiIK(3) 9:38.41|F I #H(3) 9:46.01| (L% KH(3) 9:52.17| A A (3) 9:56.34| B BEA(3) 9:56.47|4kl Bt A(3) 9:58.06 [[if] 1 5H#(3) 10:00.02
Btk B i e B kg S #l Bl S )\gE B =@ SR HR -
w#%f KH Kiz(3) 15.01 )1 A2(3) 15.52[ I HEE(2) 16.35 (BT e (2) 17.33(WH 41 18.13[AT N 18.20 (225 WA (2) 21.60
THOH | HOmRQO/OIN ey e R A S E B SR B BT TR B B SR =
ERECH 44.88 | AL 45.50| B FEHR 45.60 | 5 e 45.92| )\gEH 46.14 [ 45 47 11| [EF 47.20 [ H R 47.34
ST B () Wh THG3) Kl 18(3) L R (2) BEH - Fkse2) [k S 1 6)) SR HEHL(2) B AiE3)
TATH 15 T-4X100mR HE BERG) e fEEk(3) I FLF3) N FHAB) I NEZPNE)) A BAZE(3) KH F5EG) [ -SNE))
g 22 A(3) ekt HFe) AT PNE)) PR K33) A kA4 3) 7l BE3) HAR EFG) [ INE))
AR IEAQB) R B(2) HAS SEIR(2) M 982 ek ) BRA HE3) Bkt BAR) AR Q)
THTH qeen ey A EEG) 1Im55 (1A i (3) 1m45|HH SREE(3) 1m45
B H 8 Bl By S H B
[ e R 52H(3) 3m50 [ 55 (3) 3m00
IR TR e nrie I AR
TH6H T — JIFE JEAR)  6m28(+0.7)|% A ERE)  5m78(+0.9)[/NMR FHA(R)  5m70(+0.3)| KH FHEEG)  5m69G+Ll.6)[irih BE (1)  5m64(+2.0)|ZE AEAKB)  5m60(+0.4)| FU AT(3)  5mB3GL.D[FEE AING)  5m49(+2.3)
" B =@ Bl g B B ISy Ed L B g B AR Bl BB a@sm3oe1)
TR | e G0k |l LHE) 10m82| {2 SEHE(2) tom23(7kHE  FEAB) om85 /R A (2) 9Im76| E () Im22(iEH H5(3) 8m96| A AN HEIH(3) 8m93|F 4T () 8m57
) B fr B BEde IS SPNIIL Bl Bl Bl B B i B -
TH7E | e s sooke |NER 15EG) 30mA9| ARl R A(2) 23m00[FH F1E(3) 21m59|F 45 AFI{=(2) 20m15 |l & H) 18m58 |51 FHHh(3) 16m98
) B B GRS - #p [ o B B B g B B Bl g
At WA 24565 )11 F%=Q) 22355 [ KEE HERE(3) 16995 |k 7 —(3) 131388 BA RER(L) 1281834 | 75E(2) 12104
TA6H s pmpRggs | SSIRETER JSHL AR S He \gE Foe AR Fol- B ol Bkt
~TH 15.07(+2.7)-10m22 15.26(+2.7)-10m13 18.12(+2.7)-8m81 20.01(+2.7)-6m84 19.30(+2.7)-6m80 20.42(+2.7)-6m91
1m70-55.68 1m64-59.58 1m35-57.85 1m40-1:01.92 1m35-1:03.72 1m30-1:02.21




HT0E4 B AP EROBERE LB S BUR K% [24500181] DEAEA S T
P X AR—Y 8 — 7B LS [311010] 2 w %ﬁj”g 2% ﬁﬁf
2024/07/06 ~ 2024/07/07 BCEFEHE  NTEDE
Bk F M R [ N
BEFENRE RS OAE
& g
TATH L 4E L F100m A (1) 12.93[ &% K E®1) 13.20[dbAs JE(1) 13.443 | BEAn(1) 13.52( 4% E (1) 13.72|H s #ika() 13.81|Frh SAHE(L) 13.83|# M B 13.99
A :+1.6 Sk SR ABATC SIS SRy Rl S B BUR Sl =@ S SN
TH7H fegaterioom IR SH(2) 128128 Be2) 13.04 | IIEHS VD I(2) 1338l A5 A2 13.50[flM H%(2) 13.72(#F LA (2) 13.82|RifH FeHE(2) 13.90[ ik FAQ) 14.01
&:-04 Bl ED J5H-KRC Next J I A S #e i o S gk Bl St S [EF e ) SPNIIEY
TH7H fegstearioom i BEAER) 13.00 1 BEA3) 13.08|ILHR 05(3) 133 Ki#HG) 13.37)H M () 13.74|BOA 5 4(3) 1378 ZK SRR0) 13.86| =05 KifE(3) 13.96
fR:+0.9 Bl kA-Aesp S AR Fs B Rl o F - BEREES = Sk SRy Sl n S YA
TH6H L -200m it 20A(3) 27.18| 45 AEL(1) 27.26| & i) 28.01| LR B 28.12[i%il HEA(3) 28.44 (3 L B3An(1) 2849/ 15(3) 29.13(#7E ADHR() 29.40
A L] J B R o S AEATC S BBUR S-SR sl R SRy S BRME T SB AR
78 | eieescrsoomop) | D) 2:28.86( M (1) 2:34.51 R 1 E(D) 2:34.81|fa M FEHE(D) 2:36.98| LA (1) 2415144 EARQ) 2:43.35( =% FH(1) 2:44.90(F 1 {5E(1) 2:46.47
Fs I SRR T E',I& R Sl A S g ep S \gE S ARA D e BRME T S P
TATH 1 A 7-800m [T NE)) 2:24.51| P 4F(3) 2:27.79| 4 W TH(3) 2:28.16[ Ly HLZ=(3) 2:28.58= H #H7(3) 2:29.64|H2[H] ER(2) 2:34.82|FHH D) 2:40.08
S \gih S AR Sl AEE S ST i sl BRMHE T Sl n S ARA D
TH6R W 1 500m JEVE 3£ H (3) 4:46.02[#58 21 3) 4:46.10[ M 45 Q) 4:53.60| Bl FiE(3) 4:56.62FRA /INHAA(3) 5:02.31F§ 1L BE2E(2) 5:06.05| & Ek(3) 5:07.66|fmH  FEHE(D) 5:09.98
) Sl Ak S \gE S Ak S \gE S ARf e S ARA D JHHC-KY SR S g
g T [L[ITRENE) 14.99|FHIF WEZE(2) 16.71|1LA SLEQ) 170554 #E3) 17.15|/MiE - #-(1) 17.25|/H #(3) 17.32( I B53EQ) 17.77
TAGTLL 10mHQICR/S00 | pyby - sareh BRIl Bk Bl B BEE Bk B SRR =
Bk = 51.92| 5 KKfHE 52.78 (5K 53.25|#A 54.24 | S IEE 54.42| K 54.80 [ K LI H 55.20 {4k 55.22
EAR FiTH3) e weZR(3) g H&IR2) EAR W) M BEAD) HA HiH (3) FH ARHLHE) A B
TATH e ax100mR - (d0)I HA5(3) e ARA (1) il & #5(2) USRS S 6)) KT HAEG) Wi A (3) AR [EESNS; {G)]
IR EAE) ANBR S FT5(2) i3 #FG) B Bd7x(3) [ENIRESVSE)] A S (3) EEE EAREQ) A 3E(3)
I B3E(2) N 6)) Spi #HEAQ) R ZEEG) FEAR ETH(2) il R FRJE meZE(2) e {0
TH6H FR— ¥ Arsk(3) Im30[ 1L 5E(2) 1m30 [ KEFE F5(2) 1m30| 7)1l HLEA(2) 1m25|J7 i 16743(3) 1m25
Sl n Bl Bl t@ A e sl S B
o - [EESNNITHG)) 2m00
TATA o TR B BRI
TA6H SE—— JB REG) 5m30GLO[ i A1) AmT40.0)[ AT JAEB)  AmTIGLI)[FA A1) 4m71G2.5)|1LH V() Am49CH0.2)| Ak FEHEW)  Amd6G2.0)| P HEHE(D)  4m32( L)1 SER(2)  4m22(+1.4)
F - BEHEES = i SRR Fs - B R Bt e BB KD I e o S Zafip B B RKHE T
TH6H e L. 72 k) Bl W H3) 10m40[ LA (Z72(3) 10m33|BEEF 7 CL(3) 10mO7 [ K42 HiH (3) 9m48| LI BeZ(3) Im42{BI 0 LARQ) 8m66|H HHH(2) 8m4l [ HER(®B) 8m17
) ) 5 - R B s B A B AR B B RKHE T B B R SE )= SpNIILY
TATH | e maEookg |Th RS HED 20m48 [ ILiHf meZ(3) 19m53 (&% 7 C(3) 17m83| il 44/ (3) HmT3|FH FIREG) 13m42| 1T (1) 12m38
) B iy B GR|&E - BKKE T GRUBHL A - BEUEES = h B A B AR
INER T T5(2) 21704 iR HLUR(2) 1957 53 [SFE Fun1-(3) 1907 45 | BLAC JIHIG(1) 16015 R 70 3(2) 15375 |1 A A Q) 151481 vz@) 144653 [ ZRE(2) 131758
TA6H s pmEss | KR - ABATC Fo e BRI Fle TAE Fs - W B B i Fo e Ak JoH- B EL
~T7H 15.89(+0.2)-1m44 15.99(+0.2)-1m32 17.73(+0.2)-1m38 20.79(+0.2)-1m35 18.62(+0.2)-1m23 18.08(+0.2)-1m23 20.86(+0.2)-1m26 20.74(+0.2)-1m15

6m59-28.68(+0.9)

5m91-29.10(+0.9)

7m17-29.02(+0.9)

6m47-28.40(+0.9)

6m85-30.52(+0.9)

6m06-30.93(+0.9)

6m05-28.81(+0.9)

6m24-29.46(+0.9)

JLBI GR:RE=F SR




